Multiplicar Tres Polinomios (J)

DO

Ot

Simplifique cada expresion.

. (—4r3 + 7r2)(—7r3 — 5r? — 2r)(—4r3 —r? + 3r)

(—97“5 — 4t + 67“3)(77“3 +6r% — 77“)(—7“5 + 5rt + 77“3)

(627 + 62%)(=5a® + 3% — 4a) (22" — T2?)

9t (5r — 9)(8r — 5)

- 35%3(—25% — 85)(—9s” + 9s?)
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Multiplicar Tres Polinomios (J) Respuestas

[\

w

Ut

Simplifique cada expresion.

. (—4r3 + 7r2)(—7r3 — 572 — 27’)(—47“3 —r? 4 3r)
= —112r7 — 80r® + 39577 + 15810 + 177° — 42¢*

. (—97“5 — 4rt o+ 67“3)(77“3 + 672 — 77“)(—7“5 45t 77"3)
— 63r1% — 23312 — 932,11 — 233719 4 92007 + 23818 — 29477

- (62% + 62%)(—52® + 3% — 4a) (22" — T2?)
= 602" + 23427 + 962° + 9027 + 1682°

- 9r*(5r — 9)(8r — 5)
= 360r% — 873r° + 405

- 353(—25% — 85)(—9s” + 957)
= 545°% + 1625 — 216s°
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